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low temperature
Higher temperature

The fraction of molecules
with kinetic energies greater
N than the threshold energy

M increases with increase in
temperature.
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ccadal A3l B0l iy
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el Aoyl O gilB iy —
e lil Aoy cheliad) K5 o Ale ga Jelil) deyudl ol g
e pall lbie dags cJo bl Ao pull cali A8 o8 8 edayg
sletill g o Jlal Jasw e

xA + yB —_ products
Psp Jelill Aol (5l OGSy

Rate = K[AJ[B]’

Y sAdeladl s a0 X pdelallde il culh a Kodua
(V)3 (X) gsane o (M) Jeliall 45, 05555 B Jelinall 35,

¢ ugain ) Alalea (€Y — L
Al (K) Jelitl e ju culs Gn T 3l Asbeall 8 ossian )| ilas =
tshs ¢«(Ba) Jelall Lpial
K=A. exp'Ea/RT

(U.U:;.'\:mj Sull) Slesbaill 2yl Jalaa e e A rlua

Jeliall asall dalk B,

il Jladh it R

delal ke Sy Al Adlaal shall Aa 0 T
el 4g) 3o e
Aelia) slpall CHSH el Gl paaaall gl delil A3; Cims -
Llee Jolah 45, et Kagy "Jeliall Ao gl 58 5 Aalea 8 dacagally
S solal delis I Aol dus e o el iy Aoyl Adandss
Adl DS
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Rate ~-oow

i,

B S,

Time ———*
ool Ll wie —
b)) S clhiall el gaaad el delall Ada i g
coaS deld N sapd sy adbad b Jas W (gl e
ekl Ol 6 Aeriinall Slisjall 220 o
O5S o oKags delill 8 Aahal el shael poana gd o AT Linar
s 13y el 6 G Adal o 0 sl ol Jelill
elalh 4 Al Slisall saely S g sanal)
iduiall LG gals (Unimolecular) Lisall dolal clels @ligh il
<Vl dls o LS L (Trimolecular) aajall 353 a4k, (Bimolecular)

Al el e lax 500

‘Unimolecular Reactions  Ldjall Lulal cile il oo 48—
o delily dagh Aleline aaly sale o Jaus el Lslal edlelill ~¢
ook LS () Dot 5t Jelis (55 38 Alad) o3a

A - B

A - B+ C
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Db Bl 13 e A oy

/JH::
CH: gﬂ; ------- — CH;-CH=CH, (isomerization)
3
cm-.__uln
e CH) — 2 C,H, (decomposition})

¢Bimolecular Rractions 4uijadl 44l Se il oo alSG ~
b Aelddl Sl e e Je Jads Adnadl Aols clleldll -z
By (saaly 52l gl) Cailaia il s By L Jolial) yuud 3asaall 35kal
st Laa gy WS o(filiaa ala) &h) cnbilaia e UsS
A+ B --- AB , CH® + C,Hy ——— C;Hg
2A —— C + D, CH® + CHy® ~—— C,H,
O; + NO ——— 0, + NO,

rAlalaall 33y ol (slly ¢ ) DAL ALl Jhasll (Liadd @5l 13¢d Jliay

CH,;COOCH; + H,0 — CH,COOH + CH,OH
oy el eigimg adl oDA g b delil 8 Al clisall
delill 13 ol Ml ((2) s delal 1 b bl el s oS
Agdnall S e
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Pagiiall SN e Ul ¢p AlS -
b Alelindl Ml e Sl SO e e Ldijall 2838 e lal) —¢
B Adgall 400 e lal G digall gy delil e saadl 5kl
el sl Gliia S slalaal bl LY L 5,00 06
Al Allaall e g

A+ B + C —-—— products

ragyall 3 C e Vil Abidl jaas oday

2 NO + Cl, ——— 2NOCI

el Auliia lua LabS iy —

(Sl el ccliia) Clawall e e J8 ol dade S LS -7
Jelill saraall sphaddl (3 medl e ae palaean Al Aloliadl ogell e
gl Jail gl pllaas lgle glias gyl (gl (L) 55kall)

e Jelid Adnial) Gun (Kay (oS prda sl Sl 138 2 580 g

Gl ofshi o S il o(Ha02) congued wsl 34 oK 1 Jba

randlall oy alell
Step 1: H,0; — H,O + [O] (Slow)
Step 2: [O] + [O] — O, (fast)

H,0, — H,O + 1/20;:0verall reaction
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o Vel (e gy 4l ¢ Mallyy cJaeall aaan U e BalE skl
@ial Jelah 13 o ma Ledas a1 kil 4 sy o8 kil
Ayl
el and) - 5:)55 S
AN Al chal N Jelidl S5 pelaly AU Auayll 3ndll A -2
0 A AN CHle s Alslaa il —
;A Asbeall Gida Jelim ally ofA) Aol salad) Luab adl i

A — products

At initial a 0

At time t a—Xx X

a mual WSH oly (el Ly 2ie '8 58 (A) salad) 55 o (kg
UMLILr.\aa._l tw_ﬂ‘wi&ad&hﬂ‘d&uulﬁ.tg)ﬁuﬁ)”fﬁu—x
sl

dx/dt = k(a—x)

by rearrangement, we obtain:
dx/({a-x)) = k dt
Upon integration of above equation,
[ dx/(a—x) = kdt

or —In(a—x)=kt+c
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where ¢ is integration constant.
Whent=0, x =,

c=-Ina
Putting the value of 'c',

—ln(a—x)=kt—|na

or Ina-In{a - x) =kt
or Ina /(a-x) - kt

or k =2.303/t Ina/a—x
or k =2.303/t logga/ a—x

U\ CPPRCIP VN CHPRAN I R -5\ [ S E PO JUS R U AN PRV
M M minT s ailaag oAt

Je s cpiss i e Joaas Lili 'V a3l ae I (8 — X) 0 Ao
{=K) Gslow aiiaall asll 138

£ A AN CDe Wl janll cheai 58 ilua (S iS iy —
Balall Chad Jeldis I AA DU )08l gd ¢ paall Cauni By Capyed (e —E
) L_gi ¢ale gLl
x=0.5a at t=t,
A A Al b sl 020 e (mgpaillys
So, k =2.303/t); o9y, 2/0.5a = 2.303/t,, log,, 2
k=0.693/
or tp = 0.693/k
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Y gl}.!\ “Lﬁ‘).“ iy P Pxi! t1/2 _).n.l..“ - Y] 3_)35 Ji A8l 53 ) C....a'.'g L.'.'..L_..x.m
Ja' Adelad) salal SV Sl adias

Oialall i) (gl Alla B Al A e Ui Alalaa it —
3alall Gudll (ptiia LagdsS ol copilolinall

LasSi ol edelall iday ie @'y (A) sl 305 o pardyy -

t oo Dare 2ar dolill Jasa Ol E0)38 Ga) jepe 3@ — X grnal
A Al ey
A+ A — products
Or 2A —  products
At initial 2a 0
After time t 2(a - x) 2 x

dx/dt = k(a-x)*
dx/(a-x)* = k dt
On solving this equation { by integration},
l/(a-x) = kt +C

where "C" is integration constant.

To determine the constant 'C", When t =0, x =,
Then, by substitute about these values in above equation,
we can get:

constant = 1/ a
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Therefore, 1/(a—x) = kt +1/a
l/(a-x}) — 1/a = kt
kt = x fa{a-x)
k=1/at. x [ (a-x)
M7 MmN s s aslas g Al RS Jaee il g K G
AUl Al e Wl jand) Chead 5558 Glua (Say RS g —
Balall it Jolin 1A 500 g ¢ pand) i 53 yed e
2o L’gf tale Lialh
x=05a at t=t,
A Al Aslae 8 pall 022 (e mn gl
So, kt, = 0.5af a(a- 0.5a)
kt,=0.5a/a.0.5a
or k ti,=1/a
ty,=1/k. a
Al An M clelal tyy eall Choal 55 of Al 34 (el Gam
! e Lo A fy A" Aelial salall AuY) SCH1 Je adies
Sally (JB Jelill jeall Chai 58 ) Aelindl slgalt 385 o) WS 4
Joliall Caat 58 ul€ Alelinall dlgall e @l WIS 4 o L uSall
RVOR
S (gl are Alla 8 AU 4Gl e LE Aol i —
¢ il Wiiall ¢ylalall
Gy e b e Badtdl 35 ofy et s (A) sl S5 of pase
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ols@ = X gmual (A) salall 55 Gl et 038 () )y e 2ays Jelitl
b toadl ye a Jelill Jass ol (b = X) mual B aala) 5€5

Al AEDldy
A+ B — products
Initial conc. a b 0
After time t (@a-x} (b-X) 2x

dx/dt = k(a—-x){b-x)
dx/(a-x)(b—x) = k dt

by integration, and rearrangement the above equation, we
get:
(@—-b) kt=infa—x) = In (b-x) + ¢

where ¢ is integration constant.

Whent = (), x =0,
Then, Constant= In b /a
Therefore,

(@ - b) kt=Inb(a-xj/In a(b-x)
k = 2.303/t(a-b) log,, b{a-x)/a(b—x)
AN RSN Jaee s s K G
Agall SPE ol Adla 8 ASY Ll oD LS Adalae it —
Balall udi] Gliiia agisS of cAdelinall EDEN
el L3S oy el Ly 2ie "a" 4 (A) skt 385 o gk g

217



o Lol s da Jelill Jane g8 1 o)ad o) jspeaeva@ = X
sl aaadl
A+B+ C - products
3A — products
dx/dt = k(a-x)
1 [
) 2(a —x)’ 24’

Kt

CAEN 4Gl Ce U janll Chual 308 Glua (Say (A g —
EJM‘M&W‘;&‘&J}MM\@AcM‘M'é_):\ﬁw_’)ﬁu.a_c
2o L_gi $ale Ll
X = O.Sa at t = t]/Z
A Al Usles A aill 038 e g paillyg
tin = 1/k.0.5a(2a-0.5a)/(2a* (0.5a)%)
=1/k(0.5a x 1.5a)/(2a°x0.5x0.5a)
by = 3/(2a K)

1
2a’K

t1/2=

Al Aol edlelal t)) el Chaai 55 of A8 038 e iy Cuna

Lagias A8l oy @™ alelinadl salaall 225V 5Sll pspe o vt

Jelil] el Ciai 3y s Ao lind! slpall 565 oy LalS 4] (ol $30u8e
218



Mgall ANV €N aipe an buSe canlini by, o o L uSadls GuSally (Jis
Jelill Chiai 3 cal dlelinal slpdl chaSi coaly LS i) ol Ll lind

._)...aai
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oo g Jiluwa sl
tblt Jslaall 2 5€elal S Dy Lede Whias 30N maluill (1)
Glucose (m mol dm™) 56.. 552 542 525 49.0

Time (min) 0 45 120 240 480

a3 1S (Jelall deyudt ol el 3 A5 alal Jelal of @l
.;_;AJJH'I slA i _)}S).\;J'I Masl _)A.x_“

igdadl

a =56.0 m mol dm™: i ass Galull Slel@dll e

fst o(@X) el Alaall 35Solall S n O 4S

Log (a—x) 1.743 1.734 1.719 1.690

t 45 120 420 480
LD saa o) aay JSEL ea LS ot iy log{a—X) cpm A8 oy
Baal Jae sy A olad Jetal of e Ja) Lee cpgis Jad aad

D asdiaal
Slope=———IE——=—1.18><10_4 |
2.303

K=2.303x1.18x 107"

K=12.72 x 10* min™!
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t, =~ — 72
" K
0.693
ty =~
272 x 10~

t, = 2.55 x 10° min

30°C die aggeall 0 o Jsbaay JEY OO Gua Aalec B (2)
CH3COOCQH5 + NaOH —_—> CH3COONa + CszOH

D5 <0.05 mol dm™ ;g glilly Yl cre JS Slan¥) Sl oS
P i )y) Calide e Yl €5 A el
X 101 (mol 5.9 114 163 22.0 27.1 31.97 36.4

dm™) 1 2 0 7 7 4

Time (min) 4 9 15 24 37 53 83
e bl ‘K7 il dad Caal
igdad)
t el BT PRVt P asa )l g ‘l/a—x ?:é heand
1/(a~x)/mol 22. 25.9 29.7 358 43.8 53.9 73.8
dm™ 7

t/min 4 9 15 24 37 53 83
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Al A Jelall o e Ju L IS
:L;'f WS (.K,- i.g_;é k..\\.un. u_<..a_._|

Slop = K,
POh a2 il g oSl
Siop = 0.640
K, - 0.640 dm? mol min~!

0.51 (wA—> B delill AA Jelod Jlay) 580 jus s (3)
(150) Cro raadl Chuai 5% caba <1.03 mol dm™ ) mol dm™
il dad 13 Jelil A ol 25°C ase 26 (75) ) A0
ey
sdall
DA ardis Alall o3 3

(ta)1/(te)2 = (/@)™
ol aa cldanall ey

(tw); = 150 sec., (ts), = 75 sec., a, = 0.51 mol dm™
a, = 1.03motdm™  n="7
islanall Ablaall 8 A2lall sl e asgeillg

150/75 = (1.03/0.51)""
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salataalt Lkt el sl
log2=n-1log?2

=n-1
n=2 a ) S el

Al e Aoyl cls Glia HSas Ayl AU Jelal of Guaag

Al
1
t, = a
K - ]
t,xa
K, =1.31x 10 % dm* mol™ 57!

1300 ealal Jul e bl I« galadl )0 Jiad Jelis b (4)
S0,Cl, —— SO,+Cl,

2.0 x 107 87 44 320°C sie Jelall depudl culh oS

(90) 5341 320°C xie caisndy Juigiludl )€ Jladl 3 ghalf Rl cassa

JAada
tdadl
ted Aol e pudl Aalea o6S5 A salad Jelal
Kt = 2.303 log —=
a—x
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hsall o Bl 028 png o (Kas
Kt = 2.303 log —

'b_).ﬁé LJAJ (53 dl;m‘ SO’_)CI'_; ) ‘)us..“ d:m:: “¥” C.t_.}:.
s ans cilidanall (e

K, =2.0x107 8, = 90 x 60 = 5400 S,
- slasall Ahleall 3 Al adll e ansanllg

2.0 x 107 x 90 x 60 = 2.303 log

——1——=1.114

Y =0.102
(10.2%) (& Jrisiled) 30,51 Sl 3 iall A

o) Era 35°C xie (N)Os) L sl by, yand) Caual 3,5 caual (5)
8 X 107/min) (g5t Jelill A yull culh
el
ty, Aad alin (pSay 4l cdllily Al ootal Jelis ya oSl Jelin
AL aladnals
_ 0.693

ty, = ——

K

r
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t, = 0.693 = 85.6 min.

8x10°

e el 2l (6)
2N;05() —=—> 4NOy(q) + O

adao confinee ad e Ulian ot Gaillglog [NyOs] (o 48N oy e
Jelall de pud) il Aad il L(35°C) xie (-5.86 x 107 871) (g5t
Al ol
AN
olaf Jeldll o) Eua
(g
poitinsall Jaddh Jae o8

slope = -K;{2.303
K. = —2.303 x slop
K =-2.303 (-5.86 x 107
K=+135x10"s"

@ilS ((25°C) 2o Jdadl s agaseall SlsSed G Jelis A (7)
t SIS Ad g paall Shaa gl Aia3YY Calida die e e lmall iS5
Time/min 0 475 10 20 35 55 ©
[Na,S,05]  33.35 30.50 27.0 23.2 203 18.6 17.1
[CHy] 1825 1340 99 6.1 32 1.5 0
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Al S Jelal o cadl
sdad
Al A e il e ju Aabes Gads Sas 4318 (A5,0 SU Jelall 1€ 13)
il Lo (CHsly Nay§)0; e IS iS5 oo [b-X] 5 [a—X] 05555
r Ml Joaall Jee (Kay Gus ot Ailide dajf xe
Log (a—x)/(b— 0.287 0.35 0.43 0.580 0.802 1.093
X) 7 6
t/min 0 4.75 10 20 35 55

e Jaan (JSEN 3 ga LS et aa log (a—x)/(b—x) Ot AR} ayag
A AU Je bl o K5 Day . aise Jad

(2.38 min) 5a 65°C xie NyOs jle hady sl Coai 3,5 (8)
Soladl Aaga Ledi e Jelall “K” de ) culs caal

sdadl
AL Jaad 4l jeall Cia 55385 (A0 alal Je
t = M
Y Kr
K = 258 _0.291 min™
2.38
K, = 0.291 min™
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:20000 e NOCI(Q) df_)_,)l_.:.!.“ Jj)).\s d.\.;:\ d:.LnI: L_‘ﬁ (9)
NOClig) ——> NOg) + Cly,
@L‘ﬂ\ Q\&L\u\ Lr\c- Ll

[NOCI]/mol/L 0.0250 0.0202 0.0169 0.0136 0.0120

Time/sec. 0 200 400 700 900
Jelalh 45) e
1dad)

P OIS a8 Lgaasy AN adll Gl a5k

t/s | [NOCI] mol/L | Log [NOCI] | 1/[NOCI]L/mol
0 0.0250 -1.60 40.0

200 0.0202 ~1.69 49.5

400 0.0169 -1.77 59.2

700 0.0136 -1.87 73.5

900 0.0120 -1.92 83.3

[NOCljvs t , log [NOCljvs t, 1/[NOCI] vs t

asfiasall Jadll e (3An3 agl (553

hi e Joanit 5 1/INOCH oy A8l sy 43 Adali 0da 6 an
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Al S delad) o Je Ju les s

roal e ldl 3 (25%) Ry clal) 5Kl e Jplas ez (10)
(50%) ) s Laxie 2PN (a3

iall

Agl alal K Jas

_ 2.303 a

K="" log
t a—x
Os el U= 60 ming, (x = Yaa) (b (25%) dawy Jhay ey

ALl Al g il 538

K - 2.303 log a
60 a—1/4a
K = 2.303 log 4
60 4-1

K=4.795 x 10~ min’!

t="?,x="%a i .50% s Jan g
K =4.795 x 107 min™!

Azl padll e passanllyy

2.303
" loq ——

4.795 x 107 = 4
t 4-92

4.795 x 107 = % x 0.69327
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_0.69327
4795 x 10”7

= 144.58 min

288 mm Hg i) bakuia die (g gl pe Gamng il asl Jelin —11

(140 (2 halll el cibps cul€ il e lagia JSI 251 mm Hg

el A5, aagl L Il e (180 min), min)

1gal)

s aad cbdaedl e

t, = 1409 min, t, = 180 min, a, = 288 mmHg, a, = 251
mmHg

sl 8 ARl il e e N Jelal A8, lual,

n-1
tz . al
tl a2

lo_(2)
140 251

tle Qe Alabuall iyl Sale W sl



0.1091 = (n — 1) 0.0597
0.1091 = 0.0597n - 0.0597
0.0597n = 0.1091 + 0.0597

0.0597n = 0.1688

- _ 0.6061
0.597

= 2.827

n-~3

oyl B Jelid

O Bpbadl oy (e g3 aie JAYH auagd (gplal) gaall dupas 4 (12)
Al il e Ulas (80°C 1) 20°C
K.10* (dm™ mol™ 0.10 0.33 1.4 3.0 8.13 21. 50.1

s™ 0 5 1 6 1
T (°C) - 20 30 40 50 60 70 80

sSaalt Jelill Aledt datall ol

Leale Uloan 30 il Jaasiy o 1/T) ISy slanalt Ky psil fiale gl Cansas
: S g
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log Kr (dm™ mol™ 4.00 4.525 3.01 3.48 3.910 2.32 2.700
s 5 5 5

293 303 313 323 333 343 353
1/T 10° (°K™) 3.413 3.300 3.19 3.09 3.003 2.91 2.823

5 6 5
—4.7 x 10%= 4l
Slop = -E°/2.303 R oS

E° =-2.303 R x slop
E° = -2.303 x 8.314 x (-4.7 x 10°)
E° = 89.99 x 10* J mol™!
E° = 89.99 K.J mol™

cOnn il 3T Bady L) G Bl Jeliall A1 daball 6 (13)
2 600°K 1ie Gepudl b LS d gl A el
(16.0 s <l 1< 716°K a3 2icy «0.385 dm”’ mol™ 87!
“A" 23,30 Jalaay (E') Aleill 35Uall ewaal .dm® mol™ 87
e il
T, = 600°K, T, = 716°K, K, = 0.385 dm’ mol‘ll‘S”l
Ky = 16.0 dm’ mol™ 87!, R = 8.314 J/mol°K
- A sl 8 Aa adl) o o geilly
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og Koo B (L-T
K, 2303R { TT,

160  E (716—600]

lo =
g 0.385 2.303x8.314 1600x716

___ B 116
2303x 8314 429600
_ 1.619 x 2.303 x 8.314 x 429600
116
E* = 114804.02 J/mol

E* = 114.8 KJ/mol

1.619

Et

tomsion ) Aslaa (B el
log K; = log A -~ E*/2.303 RT
log 0.385 =log A — 114.8/(2.303 x 8.314 x 600)
- 0.4145392 = log A — 0.0099928
log A = 0.0099928 — 0.4145392
log A = -4045464
A =0.3939613

e Wagkia of aag copmg e ey b pall 2l Jhaal aie (14)

o3d (i) iz e Ao liall (Augbaie e Oyl e

Al (102) 038 Ga) (A saadll cruas olad} o3 ¢(340.5 mm Hg)

Giaa (288 mm Hg) Janyl Jaiall Lo oS (il A 4 Ly
el Aaje aagl A8 (140) 0)8 ey b i) Chuaai ala)
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s adl
of et oSad Gl Gaa e 2y Sl s oIS W
P, =a,, P, =3
rob and eclbidaeall (ha
a, = 340.5 mm Hg, a, = 288 mm Hg, t; = 102 s, t, = 240 s
Al Adolaall & cdzslll a:'-a‘ e oaeailly
t_z_[ijn_l
t, a,
40 {340.5}““
102 288
POl coaball gl gt aak
340.5

40
log= — (n—-1) log ——
J 102 ( ) log 288

0.1375278 = (n — 1) (0.0727246)
0.1375278 = 0.072746 n — 0.0727246
0.1375278 + 0.0727246 = 0.072746 n

0.2102524 = 0.0727246 n
- _ 0.2102524
0.0727246

-2.89 ~3
AU A el e Je il o o il

AN 23 e Janandl oSal ¢l Jlas Jelis Auba aie (15)
P(mm Hg) 707 79 ' 37.5

ts (S) 84 g4 84
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sgal)

AV 5SA e ISl oSa 4ld 0385 pe ol Sl daies o G

SSA ANy Al il S (Kay g o sl

a 707 79 37.5

ty 84 84 84

Loge il Jeolinlh chal ol o301 Gapd) O ¢miliill (e prialy g2 LS,

A A alySall anlS

s of e Jay Lee cddelinadl satall Syl 550 o aains Y 1y, o 4

| AT Al e Jelial

O il 2] Guales Dol (by) cialll yac 3538 << 1Y (16)
ol sl LAEEs (2.38) o (65°C) ira i aie (N,O5)
Aol o die (K) Jelih de jus Jona

dadt
ADAA hadnud Kar by o 381 330 e Jelis NyOs Dl
In2 0.693
= ——=—""-
K K
K = 0693 _0.693
t 2.38

¥

= 0.291 min™!

20°C e phall dan ol Ledie Cilye G chelian delial Jaa ~17
(R =8.314 JK ol e (Jetial 13g) Japdnill Zilla aual .50°C )
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mol™).

dall
rlladl o3a (A Gegrianyf Alales padiiud

log g Kyfk; = Eof(Rx2.303) [(T,-T))/(T; T2 )]
Given: K’/k' = 3; R=8.314 JK™' moi-1; T1 = 20 +
273 =293 K
and T,=50+1273=323K

Dusaiat)) Aalaa g3 olanal asilly Gy il g

logyy 3 = E,f(8.314x2.303) [(323-
293)/(323%293)]

E. = (2.303 x 8.314x323 x 293x0.477)/30
= 28811.8 J mol™!

=~ 28.8118 kJ mol™

5x1013 sec” oa (Luniaih 28l) B, 5 A 28 0l ¢paa Jolil duilly ~18
Sl baie paa G el A0 gale . gl e 98.6 kJ mol™! !
.1 x 107 sec™ s el Janal

Jall
!w}:ﬁl..}h_j Alslaal G.LL
k= Ae®/

or log, k = log, A - E,/RT log, e
or  2.303 10910 k = 2.303 log10 A - E,/RT
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or 2.303 log (1.1x107)

= 2.303 log(4x10")~(98.6x10°)/(8.314xT)
T = (98.6x10%)/(8.314%2.303x16.56) K
~ 310.96 K

ob Wle 25°C wic Sasall sy Saaadll Jaaad ol il ol 19
Siadl pe deloll bodad Aalay 162k o Geaal) Jolill lasswl dall

350 kJ

Jal

e o aall ey el galelill Juadl Al Les Kyn 5 Kea o e
Ll

2.303 l0g;g Kea = 2.303 logyp A - (162x10°)/RT ... (i)

3

2.303 10g19 kun = 2-303 logi A — (350 x 10°)/RT ... (ii)

10919 Keafkun = 10%/(2-303 RT) (350-162)
= (188x 107)/(2.303x8..314x298) = 32.95
kca/kun = 8.88 x 1032

o ddaciinl 35l oh e 293 K sie Jetid Jaaall cus annal ~20
R s ¢7.87 x107 877 s 273 K e Jaaa Casls ofy 103 kJ mol™
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= 8.314 x1072 kJ mol!' K™!

Jadi
t gt f Allas 2030505

logyo kafky = Eaf2.303R[(T,—T,)/T, T4l
Given: k; = 7.87 x 107 s7!; E® = 103 kJ mol™
R =8.314 x 107 kJ mo!”’ K
T,=273Kand T, =293 K
tomsiat)) Aalaa B waill 038 po (asaillyy

logyp = ky/(7.87x1077) = (10.3x20)/(2.303x8.314x10"
*x293x273)

= 1.345

ko =1.74 x 107 5™

Cafis « 407 K xie 9.5 x107 571 58 e Jelial Jandl s 21
el 3¢ 2350 elaa cavad 1.9 x 107 87! 50 420 K aic Jaaddl

Jadl

FEVPE S A PPRREL W

Logyp = kofky = Eof(2.303xR) [(T-Th)/(T) T2 )]
Given: k; = 9.5 x 107 s k, = 1.9 x 1.4 s7.
R = 8.314 J mol™ K™

T,=407Kand T, = 420 K
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siin)l Alsbea (B il 038 e mgaillyy

log o(1.9x107)/(9.5%x107%)  =E,/(2.303x8.314) [(420-
407)/(420%x407)]

E, =75782.3 J mol™

Applying now log k; = log A — E,/(2.303 RT))

log 95 x 10° = log A -
75782.3/(2.303x8.314x407)

or

log A/(9.5%x107° ) = 75782.3/(2.303x8.314x407) = 9.7246
A=5.04x10°s"

Sl Slia Jale 28Lial 2iey (100 kJ mol™ 8 Jolil sl 48U —22
2ie Jelah Jane Ao ilal sa el 75% ladey aidis Japiall 45U
Aggldia Jalsall 3L ol Lle 20°C

Jall
fb LS il ey i) Jelill Al upaiaa ) dlitas kS
k = AeERT
In absence of catalyst, k; = Ae™'®/~T
In presence of catalyst, k, = Ae T
So kyk, = ™7 or 2.303 log ky/k; =
75/RT
or 2.303 log kyfk, = 75/(8.314 x 107x 293)
or log kyfk; = 75/(8.314x107 x 293 x
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2.303)
or kyfk, = 2.34x10"
Pl Slaadl daledl Gla g dgas b Rslaiie el S o Cumg
ky/k, = (rate of presence of catalyst )/(rate in absence of
catalyst)
ie., rpfr; =ky/k = 2.34x10"
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e claa 6 PAT (v
et Al e 13lad — ]
gl pors g3V anad laeds Lilaasl e il il (o QS5 =2
fakiel slbel ae Agliadll ol lon Aaspuall e lill (o 2S5 -3
fafial olacl pa chaa Aidad) clelil e oS5 —4
3l clhae] ae depudl Ahugie e lill e AlS5 =5
Pl 5Sa Tl Lo Ll e Ll il e o155 -6
¢ Sl Jelill de ju iy =7
¢l delill Janll o el (Sa S ey ~8
flelill Jaee ausia asgie e p1G -9
¢lelal Jaes e paaill daddiudl ilasgl S =10
¢ el Je i) A€l 3gntall b muas ~11
¢delall Janlll Jaadly 3 poaalt Loyl ~12
Sldee  Jaalll Jolill Janal G (Sa i€ ey ~13
¢ Sl Jelid) deyu Jo 55l Jalpall SN —14
flelill Aoy Ao dlelinal syall dashs Soe 8 -15
Adelindl dgalt 585 3l 8L -16
el Jaen o plhall Anps ik g -17
el Jana o (Staall) Sliall Jaladl 5l 286 -18
et dopu Ao ludall Aaub 86 -19
¢ e lall A puall ()58 eaiay =20
§ sl sl S =21
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Y AN i (N;Og)  Gamg el sl pualad Jhatl) Jolis (1S 13 (1)
i s shlaally
c e bl Ao Alalea 40 -

A s s Cuaal 2280 (21.8) (55lud 45°C wie by dad il 13—
el
sl Jetal b (2)
2A+B — C
KIAT = 3o p Jons of 2ng
300°K 2ie (K = 4.8 x 107 mol/L.S) Jeliall dejpu i of 2ay5
459K 2ie (3.7 x 107 mol/L.S) (gobuus
- delall 13 B, Ludal aala -1 raal
el Jaa Any A L e
0.1 mol/L) sa syt 5Kl IS 1Y o(ty) Aad canal —a
s al An)l olal Jeladl & (3)
CyH;sCligy —— CyHyg + HClg

13 .650°K e (K = 1.6 x 107 S7!) etiall 13a deyu culs oIS
(0.165  sa (CoHSClY SLall asgyt 35Sl GlSy apad el
.mol/L)

el (125) se a0 CoHCl 585

Jelal 1agd by, cad —

32 (CoHCH) sle 385 mvadd 230U cle Ll a) aal = o
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(0.1 mol/L)

Linall G el Uik elall 25m 8 205l agig it Al (sl Yl (4)
2.8 x 107 min™! a 25°C xic il caglh i cuilS 13l L Y
sie depudl culh sl (B, = -11.9  Cal/mol) Lapisd ailh,
.35°C

SIS Je il IS (Hlgy Phadt delis i (5)

2 Higy ——> Hag) + lagg

4 410°C 2 (K) cagltl dad cul€ 136 .2 a )l Al Jeliah o
0.36 54 ouagsued i syl 3SE OIS ¢5.1 x 107 L/mol
fek bl .mol/L

cde il Ay e 233 (12) yype 30 Hlgy 585 58 Wi

0.25 A Comaed) 203s 388 paliady Gpitsall Ga3ll 54 e -0
.mol/L

cdelil gty dad caual -

:200°C 3s s 32 (NOCl)g Plast Jelis i (6)
2NOC|(Q) — 2N0(g) + C'Z(Q)

A0 Sleldl e Ulias
[NOCH] (mol/L) 0.025  0.0202 0.0169  0.0136  0.0120

Time (S) 0 200 400 700 900

elal ol 34, o L
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